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TRUONG DAl HOC VAN LANG
PON VI: KHOA KE TOAN KIEM TOAN
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THI KET THUC HQC PHAN
Hoc ky 2, nam hoc 2023-2024
(Dung cho nganh Tai chinh ngan hang)

I. Thong tin chung

Tén hoc phan: | F2-Ké toan quan trj 1

M4 hoc phan: | DAC0080 Sé tin chi: | 2
M3a nhém 16p hoc phan: | 232_DAC0080_01
Hinh thie thi: Tric nghiém két hop Tw luan Thoi gian 1am bai: | 75 | phut
Thi sinh dwec tham khdo tai li¢u: Co [] Khéng

Sinh vién duoc tham khao tai liéu gidy va file da dugc download vé may

Céch thirc ndp bai phan tw luan:

- SV g0 truc tiép trén khung tra 1oi caa hé théng thi hodc upload file excel/word
- KHONG DUGQC PHEP UPLOAD FILE ANH.

I1. Cac yéu cau caa dé thi nhim dap wng CLO
(Phan nay phdi phdi hop véi thdng tin tir dé ciong chi tiét cua hoc phan)

Trong so Ly dir
. CLO "
Ky Hinh trong _ | li¢udo
higu | Ngidung CLO thic | anp | CAuhsi | Diemso | lwong
* : danh A thi so toi da mirc
CLO . phan
912 | ganh gia dat
(%) PLO/PI
1) (2) 3) (4) (5) (6) ()
Phan loai dir liéu va chi 0.4d/cau
phi trong doanh nghiép, 2 . (tong
CLO1 | phuc vu cho qué trinh ra NT;?F 25% Caj éég diém6 | PI3.2
quyét dinh cta nha quan ghiem e cau la
Iy 2 4d)
0.4d/cau
z . (tong
. Trac Cau 7,8,9, »
Ap dung quy trinh quan | Nghiem 20% 10 11 dl?”}?
tri chi phi phuc vu cho ' ’ cau la
CLO2 viée tinh gia thanh va ra 2.0d) PI3.2
quyet dinh cua to6 chuc. Cau 1.1; 0.75d
Tu luan 15% Cau 1.2 0.75d
Cau 2.1 1d

Trang 1/7



BM-003

Tinh gia thanh mot cach 0.4d/cau
doc 1ap va thanh thao Tric Cau (téng
a P
. 20% 12,13,14 | diém4
CLO3 Nghiém 15 cau I P18.1
1.6d)
Tu luan 15% Cau 3 1d
Van dung tu duy phan
bién vao tu van ra quyét o 0 R
CLO4 dinh kinh doanh cho Tu luan 5% Cau 2.2 0.5d PI15.1
doanh nghiép.

I11. Ngi dung cau hei thi

PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)
Céaul

All of the following are examples of product costs except
A. Salary of the sale manager

B. Electrical costs to light the production facility

C. Insurance on the factory equipment

D. Rental costs of the factory facility

ANSWER: A

Cau 2

Which of the following cost is classified as a production cost?
A. Rental of the factory

B. Accountant salary

C. Selling and distribution cost

D. Office cleaning staff

ANSWER: A

Cau 3:

Which of the following cost would be classed as direct labour cost?
(). Baker's salary in a cake manufacturing company
(2). Factory cleaning staff

(3). Plasterers in a building company

(4). A consultant in a firm of tax consultants

A. (1), (3), and (4)

B. (2) and (4)

C. (1) and (2)

D. (1) and (3)

ANSWER: A

Céu 4:
A company incurs the following costs at various activity levels:
Total cost ($) Activity level (units)

62,000 2,000
93,000 4,000
152,000 8,000
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Using the high-low method what is the variable cost per unit?
A. $15

B. $16

C.$12

D. $14

ANSWER: A

Cau 5
A company incurs the following costs at various activity levels:
Total cost ($) Activity level (units)
62,000 2,000
93,000 4,000
152,000 8,000
Using the high-low method what is the fixed costs per period?
A. $32,000
B. $15
C. $3,200
D. $90,000
ANSWER: A

Caub
The following data relate to the petrol expenditure of Transportation company at two activity
levels
Litres 5,000 15,000
Petrol cost $45,000 $100,000
Using the high-low method which of the following is the correct equation for linking litres of
petrol and petrol cost from the above data?
A. Petrol cost = 17,500 + 5.5 x litres
B. Litres = 5.5x Petrol cost +17,500
C. Petrol cost = 97,270 + 0.18x litres
D. Litres = 0.18x Petrol cost +97,270
ANSWER: A

Cau7

The following data relates to component A:
Ordering costs $20 per order

Inventory holding costs  $2.5 per unit per annum
Annual demand 900 units

What is the economic order quantity (to the nearest whole unit)?
A. 120 units

B. 14,400 units

C. 200 units

D. 900 units

ANSWER: A

Céau 8
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The demand for a product is 15,000 units for a four month period. Each unit of product has a
purchase price of $40 and ordering costs are $100 per order placed. The annual holding cost
of one unit of product is 10% of its purchase price. What is the Economic Order Quantity (to
the nearest unit)?

A. 1,500

B. 866

C. 1,000

D. 1,860

ANSWER: A

Cau9

Data relating to a particular stores item are as follows:
Average daily usage 180  units
Maximum daily usage 280  units
Minimum daily usage 120 units
Lead time for replenishment of inventory 5 to 10 days
Reorder quantity 3,000 units

What is the reorder level (in units) which avoids stockouts (running out of inventory)?
A. 2,800 units
B. 3,000 units
C. 1,200 units
D. 1,400 units
ANSWER: A

Cau 10
An employee is paid on a piecework basis. The basis of the piecework scheme is as follows:
1 to 100 units — $0.4 per unit
101 to 200 units — $0.60 per unit
201 to 299 units — $0.80 per unit
with only the additional units qualifying for the higher rates. Rejected units do not qualify for
payment.
During a particular day the employee produced 230 units of which 35 were rejected as faulty.
What did the employee earn for their day's work?
A. $97
B. $118
C. $117
D. $138
ANSWER: A

Céu 11
The following data is available for a paint department for the latest period.
Budgeted production overhead $240,000
Actual production overhead $275,000
Budgeted machine hours 20,000
Actual machine hours 25,000
Which of the following statements is correct?
A. Overhead was $25,000 over absorbed
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B. Overhead was $25,000 under absorbed

C. Overhead was $55,000 under absorbed

D. There was no under or over absorption of overhead
ANSWER: A

Céau 12

Last month, when a company had an opening inventory of 8,000 units and a closing inventory
of 9,500 units, the profit using absorption costing was $35,000. The fixed production
overhead rate was $5 per unit.

What would the profit for last month have been using marginal costing?

A. $27,500

B. $42,500

C. $35,000

D. Impossible to calculate without more information

ANSWER: A

Cau 13

A company had opening inventory of 8,500 units and closing inventory of 6,000 units. Profits
based on marginal costing were $350,000 and on absorption costing were $320,000. What is
the fixed overhead absorption rate per unit?

A. $12

B. $0.05

C. $58.33

D. $20

ANSWER: A

Cau 14

A chemical process has a normal wastage of 10% of input. In a period, 1,800 kgs of material
were input and there was an abnormal loss of 50 kgs.

What quantity of good production was achieved?

A 1,570 kgs

B 1,750 kgs

C 1,850 kgs

D 1,620 kgs

ANSWER: A

Céu 15

Which of the following manufacturers is most likely to use a job cost accounting system?
A. A construction company

B. A noodles factory

C. A washing powder producer

D. A travel agancy

ANSWER: A
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PHAN TU' LUAN (3 cau- 4 diém)
Cau hei 1: (1.5 diem)

Budgeted overheads $450,000
Budgeted machine hours 15,000
Actual machine hours 14,000
Actual overheads $441,000
Required

1. What is the machine hour absorption rate? (0.754)
2. What was the fixed production overhead under/over absorption amount? (0.754d)

Cau héi 2: (1.5 diém)
Barnes Co budgeted to make 14,000 standard units of output during a budgeted period of
28,000 hours (each unit should take two hours).
During the period, the company actually made 15,000 units which took 37,500 hours.
Required

1. What is the efficiency ratio? (1d)

2. With the above ratio, is the company operating effectively? Why? (0.5d)

Cau héi 3: (1 diém)

A company which uses marginal costing has a profit of $42,500 for a period. Opening
inventory was 300 units and closing inventory was 500 units. The fixed production overhead
absorption rate is $6 per unit.

Required

What is the profit under absorption costing?

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi | Néi dung dap an Thang | Ghi
diém | chd
l. Triac nghiém 6.0
Caul-15 0.4ad/
cau
1. Tw luin 4.0
Céaul 1.1 The machine hour absorption rate 0.75d
=450,000/15,000=30 $/hour
1.2 Actual overheads: $441,000 0.75d

Absorbtion overheads:
30*14,000=$420,000

=> the fixed production overhead over
absorption amount= 441,000-
420,000=$21,000

Céu 2 2.1 Efficiency ratio = Expected hours 1d
to make actual output/ Actual hours
taken = 2*15000/37500=80%
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2.2 The company is currently not
operating effectively because labor
productivity is only 80%, 20%
lower than normal capacity.

0.5d

Céau 3

Opening inventory < closing inventory
=> the absorption costing profit is:
Marginal costing profit + OAR*(Closing-
opening) = 42,500+6*(500-300)=43,700

1d

Piém tong

10.0

Ngudi duyét dé

TS. Lé Phan Thanh Hoa

TP. Ho Chi Minh, ngay 09 thang 03 ndm 2024

Giang vién ra de
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